Mth 098 — Intermediate Algebra — Practice Exam 6 Solutions

1. Y64 =4

2. «/(—23)2=|—23|=23
3. 3&; {/g :g
27 327 3
— 1 11
4. 1253 =——=- =—
1253 Y125 5

5. 80 —(8) =2¢ =16

6. (— 81)% = («4/— 81)3 This is not a real number.

7. Ja® +8a+16 =\(a+4) =|a+4

w N

2 4
=+ —+
3 6

oo

|
a|w»
|
N | W

8. x
9. /50 =+/25-2 =52
10. 9 -3/6 =3/54 =327-2 =332

X" =X =X =X =X

11. Y16470° =3/8-2-4°-a-b° =24°p°Y2a

» ﬁ_iﬁ_g/i_ Vi1
“3fg1 Vst V27 327 3

13. V18 +38 =+/9-2 +3v4-2 =32 +3-242 =342 + 642 =942
14. BW12 +46) =36 +/18 = 6++0-2 =6+ 342
33 43 33

15. —== —==——=4/3
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16.

4
42 42 48 416 2



b2 2 [B-V2) al3-42) 2(3-42)_
32 (W3a2) WB-42) 3ot 3-2

18. Jx-3=-2

= x—3 =(-2) =  x-3=4 = x=7

check : 7T — -2 = \/_%—2 no!

There are no solutions to this equation.

19. {3x+1=2
= 4Bx+l =2 - Ix+1=16 = 3x=15 =
check: i3-5+1=2 = 416=2 vyes
The solution to this equation is x = 5.
20.
V2x+3-5=0 = 2x+3=5 = 2x+3 =5
= 2x+3=25 = 2x=22 = «x=II
check :A2-1143-5=0 = /25-5=0 yes
The solution to this equation is x = 11.
21. =9 ++/-16=3i+4i=7i
22. =3 N=12 =idf3-2i3 = 2i* - 3=6i* = 6(—1)= =6
23. 3+i)1-2i)=3—-6i+i—2i*> =3-5i-2(-1)=3-5i+2=5-5i
4 4 -3 -12i -12i -12i 12, 4.
24_—=—~ = = = =——]1=——1
3i 3 -3 -9 -9(-1) 9 9 3
s 3 _ 3 (2-i) _3(2-i) _3(2-i) _3(2-i)_3(2-i)_6-3i _6 3.
540 (2+0) (2-i) 4-i* 4-(-1) 4+1 5

x=5
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